TLY BERESIUPHER

A RV D 108N-m~8826N-m

MODEL Neo.0.010

— LZ o
LS P = e M :
SHEREL [ 4 -
It ]
S LY/ I, S ol |x -4
- ] = !
1 H [ |
4XM
MODEL No.0.030
o Lo
M R R, M
_G*_:r._ = D e ¥
¥ — ] == | A
iz ~=r ] @ 4 = o
.
1
Bft&a73%
o : TAIYO | TL-58 | TL-65 | TL-75 | TL-90 | TL-100 | TL-120 | TL-150 | TL-160 | TL-180 | TL-200 | TL-225
g e DIN 373.20 | 373.20 | 273.30 | 287.00 | 287.10 | 287.20 | 287.30 | 287.30 | 287.40 | 287.40 | 287.40
L A g e 108 147 392 686 930 1470 3432 3432 5100 5100 8826
Nz 147 245 540 883 1226 1814 4707 4707 6570 6570 11474
¥ B ®H Y A 8 30 30° 30 25° 25° 20° 20° 20 22 22* 2
BA 58 65 5 90 100 120 150 160 180 200 225
ey 47 52 62 74.5 84 101.5 | 130 140 155.5 | 175 196
#CH7 30 35 42 47 57 75 90 100 110 125 140
F 1 2 2 2.5 2.5 2.5 3 4 3 5 5
G 4.5 7 6.5 8 8.5 10 10 10 12 14 15
“EES M 35 35.5 48 52 58 75 80 80 88 83 108
HofE om = 143 143 191 275 282 310 330 335 345 345 470
R 35.5 35.5 43 54 58 65 73.5 73.5 95 95 110
SP 21 21 32 39 39 45 54 54 80 60 80
#S 32 32 43 65 65 76.3 80 90 101.6 101.6 120
oK 52 60 70 86 98 115 145 155 174 190 205
N 4 4 5} 4 6 8 8 8 8 8 8
¢d 5.2 6.2 6.2 8.2 8.2 10.2 12.2 12.2 14.2 14.2 16.2
Yad-bRIES win) | 250 250 310 375 410 500 580 600 600 660 730
2754 R ba—2 i 14 14 20 25 30 35 40 40 45 45 50
£ i, £ 48 i 14 14 15 15 15 20 20 26 33 33 40
2 4 Lz = R | clg) 1.8 1.8 3 5 7 16 28 31 46 48 65
154 F100mm = x OER | GR(kg) 0.22 0.22 0.35 0.6 0.6 0.75 1.13 1.13 1.35 1.35 1.99
$d, 20 25 30 s | 40 50 60 70 80 90 100
18 | ¢D, 35 40 50 55 64 80 105 110 125 140 160
RffE77 2 [ 30 40 48 55 63 80 90 110 125 140 160
m ¢d; 35 40 45 55 60 70 90 95 110 120 135
: - B 56 63 70 90 90 110 140 160 - 180 180 220
B S R MxE | M5x%15 | MBx22 | MEx22 | M8x25 | M8x28 | MI0X3Z | M12x35 | M12x35 | M14 x40 | M14X45 | M16X50
ZafbhbOHFRILMEA | Yes. No Yes Yes Yes Yes Yes Yas Yes Yes Yes Yes Yes

B0 e MAX. angle Lz :Shortet telescoped leng  £,8;:Sphned ship  GIWeight of the shaft GR: Wewht per 100am tube F—THEABRETRTIL.



TLFE LRI UNEERIRS1T

#wmAK FJILZ 1470N-m~12260N-m

A

¢ A
¢

R

fOHT

Yad hBR] TLF 100 125 160 180 225
Ry BmE| B 30° 307 30 30° 30°
Mb N-m 1470 3432 6670 8826 12260
Mz N-m 2157 4217 8336 11474 15690
B A 100 | 125 150 | 125 | 150 160 160 | 180 225 | 180 | 225 250 | 225 | 250 285
e 84 | 101.5 | 130 | 101.5 | 130 140 | 140 | 155.5 | 196 | 155.5 | 196 218 | 19% | 218 245
#CH7 57 | 75 %0 | 75 20 100 100 | 110 140 | 110 140 140 | 140 | 140 175
F 25| 2.5 3 25| 3 4 4 3 5 3 5 ) 5 6 7
G g | 10 10 | 10 10 10 10 12 15 | 12 15 18 15 | 18 20
SFiERS M 6 | 65 65 | 80 80 80 | 105 | 105 105 | 110 | 110 15 | 130 | 130 135
B fir mm SP 50 54 70 80 90
$S 76.3 89.1 14.7 120 140
§K 100 125 160 175 215
N 6 8 8 8 8 8 8 8 8 8 8 8 8 8 8
4d g.2| 10.2 2.2 1.2 12.2| 2.2 12.2] 4.2 16.2] 14.2 | 16.2 18.2] 16.2] 18.2| =202
Lz(MIN) 470 535 660 700 800
a75{ Ak0-11: 8| 2, 45 _ 55 60 B0 80
FSLUNBER2S TORTE, BE-AE—Lz(V a1 +2E) H, TLF100—150—470
ETLE, TLFEIMILIE
S ETLE, TLFE
FMILORODRA
» e " OHEFIIBTE—F
: &ELT
; Lh =5000RFE]
5

=3 OEFOEIH L
HHEXRLZ DA
RERLIZHDTHY

, 7,
e RKRMILIIZEDINT
BAE 31> FDH
P 1%’ T _0n ""-..___\ — TXFBELTVS»E
5 g L — | - 5 A ldER L7248
6 P = :
| iy ~~ S TR o B ERER L £
= = ~y Ty
% ; il 5 i \ Nl A ,{f.:;-_";-g ST hILYETF T v
= Pl 'I-‘_‘- "'-...._
3 [ N N sLTTFaw,.
1‘-\ .-""‘"'-.
\.-‘ hl--.~
2 l-..__-' l-..-‘
TL-58] 65 N~ ~-
— e
N‘h“. "lln..-- i
10010 2 3 4 5 6789107 2 3 4 5 6789 2 34 5X107

B8 (mp.m)
—



